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QUESTION 1

Refer to the exhibit.
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You need to configure VPN user access for supervisors at the breach and HQ sites using the same soft FortiToken.
Each site has a FortiGate VPN gateway.

What must you do to achieve this objective?

A. You must use a FortiAuthenticator.

B. You must register the same FortiToken on more than one FortiGate.
C. You must use the user self-registration server.

D. You must use a third-party RADIUS OTP server.

Correct Answer: A

QUESTION 2
An OT administrator configured and ran a default application risk and control report in FortiAnalyzer to learn more about
the key application crossing the network. However, the report output is empty despite the fact that some related real-

time and historical logs are visible in the FortiAnalyzer.

What are two possible reasons why the report output was empty? (Choose two.)
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A. The administrator selected the wrong logs to be indexed in FortiAnalyzer.
B. The administrator selected the wrong time period for the report.

C. The administrator selected the wrong devices in the Devices section.

D. The administrator selected the wrong hcache table for the report.

Correct Answer: BD

QUESTION 3

An OT supervisor needs to protect their network by implementing security with an industrial signature database on the
FortiGate device.

Which statement about the industrial signature database on FortiGate is true?

A. A supervisor must purchase an industrial signature database and import it to the FortiGate.
B. An administrator must create their own database using custom signatures.

C. By default, the industrial database is enabled.

D. A supervisor can enable it through the FortiGate CLI.

Correct Answer: D

QUESTION 4

Which three criteria can a FortiGate device use to look for a matching firewall policy to process traffic? (Choose three.)
A. Services defined in the firewall policy.

B. Source defined as internet services in the firewall policy

C. Lowest to highest policy ID humber

D. Destination defined as internet services in the firewall policy

E. Highest to lowest priority defined in the firewall policy

Correct Answer: ABD

QUESTION 5
What triggers Layer 2 polling of infrastructure devices connected in the network?
A. A failed Layer 3 poll

B. A matched security policy
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C. A matched profiling rule
D. A linkup or linkdown trap

Correct Answer: D
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